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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Trend plot forP3-11_0
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P3-11

AyiE) | EBIAT (FD) | EBE (EH/4) | BEBRERE (B/R) [XKS EFRF

07:15 288 150.0 2.888 RS FhHAQO7:15 KENFEF (RAMEEER)
08:15 288 150.0 2. 888 RS ThHA@O8:15 KENFEF (RAfEEEE)
09:50 288 150.0 2. 888 B FiHPe09:50 KRENFEF (REMERSE)
11:00 288 150.0 2.888 RS FhHA@11:00 KENFEF (CGRAMEEER)
12:05 288 150.0 2.888 RS ThHAe12:05 KENFEF (RAMHEEER)
13:05 288 150.0 2. 888 RS FiHRe13:05 KREEF (GREAEESE)
14:10 288 150.0 2.888 5| FhHA@14:10 KENFEF (RAAfREEEE)
15:20 288 150.0 2.888 BE| FiHFe15:20 REEF (REAEHE)
23t 2304.0 (8%) 1200.0 3233 %EC: 2080.0, PH: 5.9

FEIKECE (1780.0 vs 3467.0) 15
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P3-11

FyiE) | EBIAT (FD) | EME (EA/4R) | BEREE(B/R) | XS ERE

06:35 300 150.0 2. 888 RS {Ri8e06:35 Fz (REAEHE)
07:25 300 150.0 2.888 BE| {Ri&e07:25 Fz (REAEEE)
08:55 300 150.0 2.888 BE| {Ri&e08:55 Fz (REAEHE)
09:50 300 150.0 2. 888 BE| {Ri8009:50 Fz (REAEHE)
10:35 300 150.0 2.888 el 1Ri&e10:35 Fz (REAEEE)
11:20 300 150.0 2.888 el Rige11:20 Fzy (REAEHE)
12:05 300 150.0 2.888 B Rige12:05 Fzy (REAEHE)
12:50 300 150.0 2. 888 Bl Rige12:50 Fz (REEEE)
13:40 300 150.0 2.888 S| Rige13:40 Fzf (REAEHE)
14:25 300 150.0 2.888 BS| 1Ri%e14:25 Fzh GREAMEESE)
15:15 300 150.0 2.888 S| Ri%e15:15 Fzi (REAERSR)
16:05 300 150.0 2.888 BE| Rige16:05 Fz (REAEHE)
=23t 3600.0 (12%) 1800. 0 3ESHKEC: 2080.0, PH: 5.8

MEREHLER 2 5 FEIELRT (184.0 :
ZRIAEBRERE150. 0 ml.

HEEHECE (1860.0 vs 3513.0) 5

150.0), FAEEHT—@ % XA HS




P3-11_0, Day=62 (2025-06-03)
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P3-11

FyiE) | EBIAT (FD) | EME (EA/4R) | BEREE(B/R) | XS ERE

07:25 288 150.0 2. 888 RS {Ri&e07:25 Fzy (REERSE)
08:10 288 150.0 2.888 sl {Ri&e08:10 Fz (REEEE)
09:20 288 150.0 2.888 RS {Ri&009:20 Fz (REAEHE)
10:05 288 150.0 2. 888 e {Ri&@10:05 Fzy (REAEHE)
10:55 288 150.0 2.888 el {Ri&e10:55 Fz (REEHE)
12:00 288 150.0 2.888 el Rige12:00 Fz (REAEHE)
12:35 288 150.0 2.888 B {Rige12:35 Fz (REAEHE)
13:10 288 150.0 2.888 [Z=| 1®i%e13:10 Fzh (REAEZRESR)
13:55 288 150.0 2.888 [Z=| 1Ri&e13:55 Fzh (REEEE)
14:40 288 150.0 2.888 [Z=| 1Rige14:40 Fzh (REEESE)
15:30 288 150.0 2.888 [Z=| 1Ri%e15:30 F3zh (REEESE)
16:30 288 150.0 2.888 |Z=| 1BRige16:30 Fzh (KAEESE)
29t 3456.0 (12%) 1800. 0 3ESHKEC: 2080.0, PH: 5.8

MEREHLER 2 5 EIEARTF (195.0
ZRIAEBRIERE159. 0 ml.

HEEHECE (1907.0 vs 3883.0) 5

159.0), FAlEEHT—@ L XA HS




P3-11_0, Day=61 (2025-06—02)

150_' ------------------------------------------------------------------------------------- ._3000
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P3-11

RyiE) | EBIATK (FD) | ERE (EA/4) | EBREE (B/R) [XKS EFRF

08:30 288 150.0 2.888 Z| {Ri%e08:30 Bz (KREAEHE)
09:30 288 150.0 2.888 [Z=| 1Ri%e09:30 Bzh (FEEESE)
10:30 288 150.0 2.888 [Z=| 1Ri%e10:30 B3h (REEESE)
11:30 288 150.0 2.888 FA| {Ri&e@11:30 Bz (GRAEREE)
12:55 288 150.0 2. 888 FH| 1BRi%e@12:55 Bz (kBERESE)
14:20 288 150.0 2.888 FH| 1Ri%@14:20 B3h (RkEBERSE)
15:50 288 150.0 2.888 FA| {Ri&@15:50 Bz (GRAEREE)
23t]2016.0 (70%) 1050. 0 3ZHKEC: 2080.0, PH: 5.9

MERRNER 2 5STREAERSE (187.0 : 153.0), AJEEHF—RZ XA45
ZRIA L PRIERE153. 0 ml.
#[ERECE (2007. 0 vs 4407.0) i H 5
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P3-11

AyiE) | EBIAT (FD) | EBE (EH/4) | BEBRERE (B/R) XS ERR

06:15 283 150.0 2.888 FE| 1BRi%@06:15 B (FkAERSE)
07:15 283 150.0 2. 888 FE| 1BRi%@07:15 Bz (kBERSE)
08:15 283 150.0 2.888 FH| 1BRi%@08:15 Bzh (kABERE)
09:20 283 150.0 2.888 FA| {RRi&@09:20 Bz (RA{EEE)
10:20 283 150.0 2.888 FH| 1Ri&@10:20 B3 (RkAEREE)
11:25 283 150.0 2.888 FA| {Ri&e11:25 Bzl (CGRAEREEE)
13:10 283 150.0 2.888 | K/| f{Rige13:10 Bzl (KREAERSR)
15:00 283 150.0 2.888 |/hfu| {Ri&e15:00 Bz (REAEHE)
2it]2264.0 (8%) 1200.0 32933 %EC: 2080.0, PH: 5.8
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ZRIA L PRIERE153. 0 ml.
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